Prelim 1: 2008-2009


Intermediate 2 Prelim Revision

Calculator Paper

1.
Factorise fully


(a)
72 – 8x2


(b)
2x2 – 2x –24

2.
A flat was bought for £125 000. Over the next four years the flat appreciated in value by 5% each year. How much was the flat worth after four years?

3. 
In the January sales a jacket was priced at £60. The jacket had been reduced by 20%. Calculate the original price of the jacket before the sale.
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On an orienteering course, Clover walks on a bearing of 0400 for 55 metres while Pamela walks on a bearing of 1150 for 70 metres. Calculate the direct distance between Clover and Pamela.

5. 
A pendant is made out of coloured glass and wire.
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Each section is the same size.


The diameter of the pendant is 4 cm.


The border is 8 mm wide.


One section of the pendant is broken.

Calculate the area of the broken section.

6.



7.
A candle is made from a large cone by 
removing the top smaller cone. 
Calculate the volume of wax needed 
to make 10 candles.

8.
5 identical cheese portions fit in a circular box. 
The diameter of the box is 14 cm. 
(a)
Calculate the area of the top of one of the portions.


(b)
Calculate the length of arc for 3 portions.

9.
The course for a race is laid out as shown. 
The first leg of the race is 5 km. 
Calculate the total length of the race.                                 
10.
A fishing boat keeps a record of the weight of its catches from 8 trips.



65
41
108
33
120
55
135
22


(a)
Calculate the mean and standard deviation.


Five years ago the mean was 161.4 and the standard deviation was 9.3.


(b)
Comment on the change in catches. 

11.
Calculate the size of angle CAB.

12. 
In the record store two new CD’s with one second-hand CDs cost £28. 

Three new CDs and two second-hand CDs cost £18. 

How much will 5 new and 3 second-hand CDs cost?
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A company’s logo is made from a circle and an isosceles triangle, A is the centre of the circle with radius 4 cm. 





Calculate the length of BC.


Round your answer to 1 decimal place.
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